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PAPER - |
&6 ey : elpemm) el CHrd Qwrsg wLkluerser : 300
Duration : 3 Hours Total Marks : 300

(@susilanm-aflenL_ggmer Qgn@LiL 72 ussnismans QsTamharems))
(This question-cum answer booklet consists,of 72 pages)

leyswrser/Instructions

(Spsaa oiHlojamrsamer el ewTanTiILISTITSET Sauiioe e DHn Coler(HiLd)
(Candidates shall comply with the following ifistructions)

1. Aewenriiugryiser, @euedearm-elengsrar Casr@liy QWMEsh 72 usshsmens CsTam(hererg
aeruens (psadled 2 md Cauig Csmerer Couam(Hbd. Ls0gTELibe0 gGsanbd @amnumg e,
o Lanquing Caum Asr@glienu Caieys semsranilliimenilLdd Camill Qupmis Csmerer Couar(HLb.

Candidates shall first ensure that thi§ question-cum-answer booklet contains 72 pages.
In case, if any defect is found in this booklet, they can request for replacement from the
invigilator immediately.

2.  geulerm olamelnEb salssaluns el ewgeughbsar QLD egHsslLl(Hearerg.
ellarenTILGTITSET  eeubleum  eleameilhEn el wefllss egssiiulL @Lsdd LI HGW
ellenL_weflgs Couamr(hib. eflen_wieflds egssiul L @ s8hE teuaflGu eranguib eT(pS&HanL_Tg).

Space has been providéd to write the answer for each question. Candidates have to
answer the questiong only inthe space provided for that question. They should not write
anything outside the'space provided.

3.  elawewriugmyrger efemasratien eeubeurm GMalaib <idleymissli (herer erewrantldamaulleomen
lamgsEns@, WL HCW el weilss Ceouar(Hb. ASHE LOlepswimen  eremmemt&andudleomer
MamssEné@ el Wallssme, gelbeumm Gfleder wpielaid Wenswmer erereanilsamseuda
cllenL_well@&sldl L e samésler eT(NSEISCsTETaTILIL T L TF).

Candidatesyshould answer as many number of questions as instructed in the question

papérfinTeach section. If more than the required number of questions are answered, the
answers,written at the end of each section will not be taken into account.

4. 7 @Qaeusllarm-ellenL g sm@Libd ellammsser WD wHMID miFle allgalbisaic 2 6TaTar. marss)
@amisaflebd < midle eulgaie il (herer @GHlLLEEeT (plgelTaTaney.

In this question-cum-answer booklet, questions are in Tamil and English versions. In all
matters, English version is final.
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5. &lamenriugsnyisd @b elarm-alanl s Csm@Uladmhg) erhsd Sreanemu|b SPsgHel & gl g

Candidates should not tear off any leaves from this question-cum-answer booklet.

6. @5CsTameu UTNISSEIMT, ALPETS T(PFIUSDSTHELD, LenLpullLeTOEEHERSIAISH HTEH6LD
el winsg S LGTSET eEiSsLILIL ellena.

There is no reservation of marks for neatness of writing and correctness, of spelling in
respect of this examination.

7. edamenTLSTITSET S48 culyedleorar allemmss@ndd@ edlenwafls@r Cumipg) smiseng ClLwenyGum,
udlQeuarenarGIT  eT(PSHEHIMLNG.  SEseTE  Cluwifed sCllTLLI afb  Sigiwduldamae.
Sjeueurmrer ellamésEnsd@ Ldloafls@numips ebamasartidigmubhLinl Hierer QuwT wHmID
wpaalflawCu LweaTLhssColarTHib.

Mamssafley GQuwm, @seaufl dumer @GHUGLLLL efomatueafld, ‘e,
‘Cumipi wpaeuflsaiid o 2 @) DG eTEH6D U1 Q&L BIDOFIETSHE 6T&H6aV erdben Cumemm ClLimg)
Quuirsener L HGL 6r(LpsCouam(HiLbd.

Candidates should not write their name, register niimber while answering letter type
questions. Putting signature in their si@me 1shalso not permitted. To answer such
questions, the name & address given i the gquestions alone should be used.

If no name is given in the questions, they should write the general names like
ABC or XYZ or XXX in ‘From’ and¢To’ addresses.
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UNIT —1
WMey — <=
SECTION — A
oy : 1) gaCeurm elamaingd 150 QemhaErse Wamne o
Note : Answer not exceeding 150 words each.
i)  geleun eleamain@b usF wHLIGLIamTSEET.
Each question carries ten marks.
iil)  QerRésiL’ Gérer g edamssalle e S amTéses @mé@ LB
fenL_wiafl&sHeyLb.
Answer any six questions out of seyen questions.
(6 x 10 = 60)
Q.No. | @pHwur AsmewwinrssliiulLg G9fllig 6y &, Hifler Qaran — aleurgd CFuis.
1 Industrialization of India is one of the b i itish Rule in India — Argue.
lev / ANSWER
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Q.No. | Ceugn Lyyl_S&smren sryaThismar 69eUrLONg eT(PSIs.
2 Elaborate the causes of Vellore Mutiny.
efew / ANSWER

<
<
&
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Q.No. | Caélw 2 enrreysErdEE, rreymymd Gors
3 Bring out the contributions of Raja
alen_ / ANSWER

< nolw uiideer CeuaflsClsmeanTms.
han Roy to National consciousness.

7 4
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Q.No.
4

BE& s Sullen Crrésmiser wHmb Fnsemeargamer euflanal IS s sams.
Narrate the objectives and the achievements of the Justice party.

elew / ANSWER

<>
<
&

2
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Q.No. | e&CLmflwr wargrent s _ersser
5 Explain the significance of Queen

D 3

elew / ANSWER
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Q.No.
6

QgeralBSwl 4l Ha@ QU (0§ QFern STyenThisamer <prmils.
Examine the causes that led to the South Indian Rebellion.

len. / ANSWER

&
O
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Q.No. | @pHw srssHen CrrésD WHMHILD LTS < Tmiis.
7 Examine the objectives and the ac 1es of the Indian Association.

e/ ANSWER /

DEOM1-19 14
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Gy : 1)
Note :

i)

iii)

Gfley — <

SECTION — B
eaGeun efamain@b 250 QarhaErsE WaTO6 aflant u GYLD.

Answer not exceeding 250 words each.

eGeun elarmeiln@Lb uSlamanbg WHICLGETSET.

Each question carries fifteen marks.

Qar@Résiiul Gerar pm  elamésaild erane hal  eSlamés(@ans

LD
L (H eflenLwefl&Heb.
Answer any five questions out of six qu
\ (5 x 15 = 175)

Q.No. | ‘Quenrsafler el (hgemasans, Belar ips F1H (1SS &eiT 6T(H
8 Discuss the steps taken by the modern social re ers for the emancipation of

S BL_Gllg San&EEmaT adleurs).

women.
elew / ANSWER

DEOM1-19
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Q.No.
9

&Cs8 QuGssslen @ampuThisamerd (psHwusgieusamsub efleul.
Describe the limitations and significance of the Swadeshi Movement.

len. / ANSWER

<>
&
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Q.No. | peveSid eSens <4,5MSE AH6 eLpevLDd LITE g & Y mdCaowm <l & 10ls (pasdlw
10 | uRIsTHOWE — pFTiIs.
British backed the Muslim league yed a vital role in the formation of

Pakistan — Examine.

e / ANSWER
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Q.No.
11

1857-1b e Ly SHufen Caraveilsasrar sryanbsamer afleu.
Explain the causes for the failure of the Revolt of 1857.

e / ANSWER

<
&
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wefler LibiSlener L6 S.
n” in Indian freedom struggle.

Q.No. | @pHw &zpHr CumyrL gl afyumamigw
12 Evaluate the role of “Veera Pandya om

len. / ANSWER

DEOM1-19 26
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Q.No.
13

@pdureile Lyl dlasr Caslw eunggdlen cuerisslulener aflou.
Describe the growth of Revolutionary Nationalism in India.

len. / ANSWER

<>
K
&

2
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UNIT —I1
Wfley — <=
SECTION — A

Golly: 1) gaCeunm elamaingd 150 QerhaErsE Wamoed el wiafigse, .
Note : Answer not exceeding 150 words each.
i)  geuleum(m eflermmelH@b LS WHLIC LIGRTSET.
Each question carries ten marks.
1) Qar@ésuul_(heter Bren@ ecllamésetle) crepaullIghib) aperm 6N eTTEs EhdsE
oL (O eflewLwefl&Heb.

Answer any three questions out offour questions.

(3 x 10 = 30)
Q.No. | Epsseam_ameusEndE HILE STams.
14
7 (11) " 21) (22 g~ 5 7 16 L 9
7 (-3 7 5 2 -3 1 3 3
(@) {E[Ej}{gﬁ} o N AT
Find the value of the following
(@) §+(__6j+[__8)+[iJ (b) jxéxﬁx(__lélj
7 11 21 22 5 7 1 9
() ZX[__?’ +{in} (d) gx__S_L_§X§
5 (12 5 12 5 7 14 7 5

Menr / ANSWER
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Q.No. | (=)
15

anfafler sHensufer euwigreng sHCLITE anfadler euwanSICLTE® PPETM L BISTELD.
5 auLmisErsE e, anfeflar spasuier cuwgrag ABCHISHe anfadlen
auwesls Curé 4 wLrigE orafld anfeay wHmD Seufear shosuler SHCLITMSW
QUWIGIHENETE HTEO0TS.

(=) eparn AHSSHSS @ uied eramaatien ga(Hse 3666 erenfled i6ubleds W&

(a) At present Harish's father's age is 3 times Harish's dge. ears before,
Harish's father's age was 4 times Harish's age at that #ime/Fin e present
ages of Harish and his father

(b)  The sum of three consecutive natural numbers is 36 en find the numbers.

alen_ / ANSWER

DEOM1-19
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Q.No.

16

(=)

(a)

(b)

BeE smsE AOSHWL 52 E (hamers Gameamm s iq6l(HHg Foeumiliy (pennuldle
@@ L0 r(hEsLILGEDE. arai@euareupPH@ HSpE56 EmeTs STams.

O @055 K0 Lundn o6 Goés
(i)
(iii)
1 @wse_ 100  alengulleomer  wpp
CaiibaS[H &SI G creim

THSS FLH LWL @O @)(Hés
THSS FL_H ereiv FLT& G)eOadoed B) (s,

cramsaidlmbg  FoeumiiL  peppulled

1) @ (W eursons (perfect square) @més

@1) WP saTons @earnad (not a cube) @ mss dwareupiler Hlspsse|smars

SIS,

Ome card is drawn randomly from a well shuffled deck of 52 playing cards.

Find'the probability that the drawn card is
(1) a diamond (i) not a diamond (i11) not an ace

A number is selected at random from integers 1 to 100. Find the probability
that it is

(1) a perfect square (i1) not a perfect cube.

35 DEOM1-19
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Q.No. | SpssaL QuTHL&EREE 5% wrusHnE Nlghveniids HTeTs.
17
(=) em BHeuay T 600 &@ curmisl T 37 QFee|ser Clgwwlil L me.

(=) ey CeulHibd Qumh 1,25 Lul® T 100 Cums@eursg ey

Qedwutiu’ L g.
(@) e Wer al&M T 650 &5
Find the selling price (SP) if a profi

T 40 upgyIUTTSSLILLL ).

% 1s made on:

(a) acycle of €600 with ¥ 50 as overhead charges

(b) alawn mower bought l ¥ 1,250 with ¥ 100 as transportation charges

(¢) afan bought Z 650 and expenses of ¥ 40 made on its repairs.

Menr / ANSWER

37 DEOM1-19
[HwLiys/Turn over



11111111



Gfley — <
SECTION — B
Golly: 1) gaCeunm elamaingd 250 QemhaErsE Wamoe aflanl wiafigse,ib.
Note : Answer not exceeding 250 words each.
i)  geubleumm eflermmellH@b uHemanbgl S LIGLITEET.
Each question carries fifteen marks.
1) GsrhssiulHerer apern edlamssafler creneuCudand @gawr(h cdamasEnss
wl Hb llen_wieflssalb.

Answer any two questions out of three questions.
(2 x15=30)

Q.No. (=) e euuied 5 deuliy wHmibd Seo Beo Hip LBGIsET 2 dferer. SiLienLuledmHgl e Ha
18 Bnl upens eTHlushaTear Hlapsse, @ ekl BinUlibans er(HLILSDHETeT
Blapsseiien 3 LG erafléd ojlamuuiee erer [_%61) ﬂmuuﬁggaﬂm cranTemilEEn SIS
FHTEHTS.

(=) @@ soeumiliLE Camganaruiled e HlaPEE A areng. oidd
P(A): P(A)=7:12 erefléd P(A)en sgims.

(@) 35 Qummlser <iLmdw CsmELUitpeéndled 7 GlummLgeT @eannum(HenL_wer.
9505MELa0 (Hbg em Cudm(mer FbauriiliL) wpeppuied CaH6lgHEEGD Cumg oig)
@enuUrL_pHn CUTmeTTs GIHLILUSDSier Hl&DSH6, &Tams.

(a) A bag contains 5 red balls'and seme blue balls. If the probability of drawing a
blue ball from the bag is thrice that of drawing a red ball, then find the
number of blue balls in the bag.

(b) If Ais an event of a rafidom experiment such that P(A): P(A)=7:12 then
find P(A)

() There are T defective items in a sample of 35 items. Find the probability that
an item chosen at random is non-defective.

aflen / ANSWER

39 DEOM1-19
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Q.No. | (=) % 7,500 & 8% aul iq 6581 (1 QUHLLD 6 LOTSRISERESTET Seflaul lg b
19 QgTEnsEUIWLD &HTETs.
(=) @GOGl L SForarg 8% saflal iy aissdled eTdsamen <6 (Hsafied epeanm
LOL_MBIST(GLD CTES &TEurs.
(@) < T20,0005@ 5 yarphsaia saflall g T 8,000 Hle_sdlpg,
BSMSE HTEHTS.
(a) Find the simple interest and the amount due on ¥ 7,5 t8% per annum for
1 year 6 months
(b) A sum of money triples itself at a simple interest rateo per annum over a
certain time. Find the number of years
(¢)  Find the rate at which the sum % 20,000 yiel simple interest ¥ 8,000
over 5 years?
afen / ANSWER

DEOM1-19
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Q.No. | (=) @@ @by, @@ AorsCsmard LHMID @@ 2 (Haer dwear Fo jgliuFlileneas

20 Qsrar@arerer. sabQenr o wybd, o Heerular o wWFsHDHE swwLTEa D, GoaIb
@eueyurd  eupdlen  RTSHDE@G FOWLIGAD @ HHSTL @D eperdlem  SHeo
Slare s ERdEE LGl 2_der cllSleSamss Smems.

(=) @ Samns CamarsSlen sear jearey 7241 % &. Qg5 ecrafled UFET S TEDSS HTews.

22
T =— eTens).
( - )

(@) sereTapT Qumbamwbwren Sa@rs&Cameargdlen g g bl @lan g el elled 2 eTerg.
Ssger 2 (Housdlenr el L b wHMD Cwrss o wrd WeopGuw 21 GF.5 wHmb

25.5 Qg8 erafler g6 sam Sjareneud sres. (7 = 27—2 GLITSQBITETS).
(a) A cone, a hemisphere and cylinder have equal bages. If the heights of the cone

and the cylinder are equal and are same/s the common radius, then find the
ratio of their respective volumes.

(b)  If the volume of a solid sphere is 7241 % cu.cm. then find its radius (7 = %).

(¢) A Thanjavur Toy is in the shape.ef a cone surmounted on a hemisphere. If the
diameter and the total height/of the solid are 21 cm and 25.5 cm respectively,

then find its volume (Take 7 = %) .

e / ANSWER
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@iy : 1)
Note :

i)

iii)

S0EG — 111

UNIT — III
Wfley — <=
SECTION — A

eGeun efarmein@b 150 QamhaEnsE Wamoed 6ilam ey
Answer not exceeding 150 words each.
euGeunp elarmailn@b LusF S LIGLIamTSEET.

Each question carries ten marks.

QarHssuul_(herer er(p ellammasatich cranel Nl GTT&:&(6hs @, L (HLD

e wiefl&sa]|. \‘
Answer any six questions out of seyen questions.

(6 x 10 = 60)

Q.No. | piium wpmib Heoeui @& 6rbg CummErEE SiHabl Aullwic o drerg. efleu.

21

Which material has high elasticity? Rubbe 1. Explain.

Menr / ANSWER

DEOM1-19
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Q.No. | Quni9wed erajsafier cvCseim HMID CleusL —alIaHs.
22
In physics, compare scalar and vector quantities.
alen_ / ANSWER

DEOM1-19 50




Q.No. | NO:  smbg FiliLs semenben_WLSTsa|LD agrseyd @ H&Hng. e N,O,
23 &MHS6NH0EES SEMENLOIL|ELWSTHELD HlmLoh b @ (mSSDg? eren?
NO: is paramagnetic and colour ,0, 1is diamagnetic and colourless.
Why?
o / ANSWER

51

DEOM1-19
[HwLiys/Turn over






Q.No.
24

Mdlss Hensey cllanersedr LHMD Genant llg cllanarsamer o STFamTHISGEHL 6T 6N6TsHEs.
Guaib S,05 & smissbd bpnb KO, — <ysdsnaidar s00Camn eramamand sr_Hs.

Explain disproportionation and comproportionation reactions with examples. Also,
find the oxidation number of sulphur in S,0; and oxygen in KO, .

&
QO
&

2
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Q.No. | pgICsQIbL ADDEMEISHEREELD, (LPSIG L| 2 GTemanaus@hd LD 2-arer CeumLm(H&6T wreneu?
25
Explain in detail the differerys between invertebrates and vertebrates.
alen_/ ANSWER
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Q.No. | @rsssdlern LeCeum cuamasamer alleuNsg Seupdler (paSHwdgieud LHH GO eTpg.
26
Describe different types of blood groups and add a note on their significance.

elew / ANSWER

<
K
&

2
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Q.No. | eflevii Qgelern Qga LiL gt o LiGwol &6t Wmeneu?
27
What are the biological functions o cell membrane in an animal cell?
alen / ANSWER l

57
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Gfley — <
SECTION — B
Golly: 1) gaCeunm elamaingd 250 QemhaErsE Wamoe aflanl wiafigse,ib.
Note : Answer not exceeding 250 words each.
i)  geubleumm eflermmellH@b uHemanbgl S LIGLITEET.
Each question carries fifteen marks.
1) Qarpssuul_(heter pren@ eSlamésetle) ereneuCGlugnid @peiim 6NemmssEndsE
L Hb eSlen_wiefldsalb.

Answer any three questions out of four questions:.
(3 x 15 = 45)

Q.No. aafl e eremug) eafl sHevm (F UL SHO HLEGLD Befddler HILTED. Sigsmar eafl
98 | < @miqedmbgl B Mer BersS @ wmhidlé sanrsd (.

A light year is a measure of length equal to the distance that light travels in 1 year.

Compute the conversion factor between light yearstand meters.

Menr / ANSWER
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Q.No.
29

Weru@efsear updw geL—an&sa Garearensamw ellfleurs efleurdlss.

Discuss briefly the Debye-Huckel theory of Electrolytes.

len. / ANSWER

&
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Q.No o WGflueTol UMgISTUL|  6TETDTED GT6o miL0 Cuamiens LHMID LneumPl 11 Cuamiens
30 | c@pudd 2 ulifuenol ungisTidgan oflarh@s.
What is biodiversity conservation? \Explain in-situ and ex-situ methods of
biodiversity conservation.
alen / ANSWER

4
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Q.No. Qarldd sepub aeul L flansaflen 2 amre| epe sTrD, 2 ulflued CFwdgEer wHmib
31 | Ge@puur® Ceriseamer LunM efleurdlésa,ib.
Discuss in detail the dietary sources, biological function and deficiency states of fat
soluble vitamins.
alen / ANSWER

<
&
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